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Considerthefollowingdeclarations

typedate=int*int*int

typename=string

typebday=name*date

typebdayset=bdayset

vals:bdayset

froma”system”thatstoresnamesandbirthdays.

•Eachpersoncanonlyhaveonebirthday

∀(a,b):bday.∀(c,d):bday.(a,b)∈s∧(c,d)∈s∧(a=c→b=d)
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•Thereisnoonewithname“n”insWecandefineapredicate

P:string*bdayset→boolwhichexpressesthis:

funP(n,s)=∀(a,b):bday.(a,b)∈s∧a6=n

funP(n,s)=∀(a,b)∈s.a6=n

WewouldthenuseP(Jacques,s)toverifyifJacquesis(orisnot)ins.

•Thesetofnamesofpeoplebornondate“d”Defineafunction

LN:date*bdayset→nameset,

funLN(d,s)={a|((a,d)∈s)}

•Thereisapersonbornondate“d”

∃n:name.(n,d)∈s
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